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Ex. 17.3 b)
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We start with subtracting Row 1 from each of the other Rows.

1111 1
0 2 2 2 2
(R2-R1), (R3-R1), (R4-R1), (R5-R1) Yields: [0 2 5 5 5
0259 9
0 25 9 14
Next we subtract Row 2 from Rows 3,4, and 5.
1111 1
0 2 2 2 2
(R3-R2), (R4-R2), (R5-R2) Yields: 0 0 3 3 3
0 0 3 7 7
0 0 3 7 12
Next we subtract Row 3 from Rows 4 and 5
1 1111
0 2 2 2 2
(R4-R3), (R5-R3) Yields: (0 0 3 3 3
0 0 0 4 4
0 0 0 49

Next we subtract Row 4 from Row 5

(R5-R4) Yields: = (1%2%3%4*5) = 120 (= 5!)

(=R -
S O N -
S @ W N -
S A W N -
N B W N -
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Ex. 17.4) Find each determinant by first reducing to triangular form:

32 3 0 8 1 -1 -2 -3 7
2 3 5 3 1 Rowl—Row2 2 3 5 3 1
d)l 1 1 2 3| Rowd-Row3|=|1 1 1 2 3 |..Next..
1 2 4 1 1{RowS—=Row2 0 1 3 -1 =2
2 0 -1 -1 4 0 -3 -6 -4 3

1 01 -4 5
Rowl + Row4 013 -1 -7
Row2+(-2)*Row3 (=1 1 1 2 3 |...Next...
Rows +(3) * Row4 013 -1 -2
0 0 3 -7 -3
1 01 -4 5
(RowZ +(-1)* Row4) 0:000-3
01 0 6 -—2..Next..
Row3 +(—1)* Rowl
0 0 3 -7 0
0 0 3 -7 -3
1 01 -4 5
SwitchRow2withRow3) 01 0 6 -2
Therefore * (—1) -D*0 0 0 0 -S5|..Next..
RowS +(—1)Row4 0 03 -7 0
0O 0 0 0 -3
1 01 -4 5
010 6 -2
(SwitchRowaithRowZ aEn* (—1)) =>EHD*0 0 3 -7 0[=1*1*3*0%(-3))=0
00 0 0 -5
0O 0 0 0 -3




